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TOURISM ADMINISTRATION & MANAGEMENT

PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

1. Assertion (A) : The interaction
between tourists and the host
community can be one of the
factors that may  affect a
community.

Reason (R) : As the tourists may not
be sensitive to local customs,
tradition and standards.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, but

(R) is not the correct explanation.

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

2. Assertion (A) : The bed-and-breakfast
(B & B) concept began where a
family would open their home to
traveller.

Reason (R) : The successful B & B
operators are those providing guests
with same positive experience
again and again.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, but

(R) is not the correct explanation.

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

3. Assertion (A) : The desire to learn
from and experience other cultures
heightened awareness of the
educational benefits to be gained
from travel which led to the Grand
Tour era.

Reason (R) : Reports of Marco Polo’s
travels and adventures continued to
heighten interest in travel and trade.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, but

(R) is not the correct explanation.

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.
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This consists of two lists of the
milestones and the development of
tourism. The candidate has to match an
item in one list with an item in the
other.

List— 1 List— 11
(Milestones) (Devg}oprr_]ent of
ourism)
a. 1760 BC to 1. Shang dynasties
1027 BC established trade

routes to distant
locations through
out the far east.
b. 1100 BC to 2. Greeks developed
800 BC common language,
currency and travel
services  resulting
in the emerge of
city states which
became
destinations.
c. 900 BC to 3. Phoenicians
200 BC developed large
sailing fleets for
trade and travel
throughout  their

empire.
d. 500 BC to 4. Romans improved
AD 300 roads, legal system,
and inns to further
travel for
commerce,
adventure and
pleasure.
Codes :
a b c d
A1 2 3 4
(B) 4 3 2 1
© 1 3 2 4
2 4 3 1
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Assertion (A) : The level of
tourism interest and activity in a
specific area often depends on a
combination of both physical and
human geography that come
together, making certain locations
more attractive than others.

Reason (R) : Climate also influences
the level and type of tourism
activity.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, but

(R) is not the correct explanation.

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Which of the following sequential

itineraries is/are correct ?

l. Honolulu —
Vancouver — Oslo

Il. Los Angeles — Washington DC
— Paris — Dubai

Ill. Rio de Janeiro — Cape town
—Mauritius —Singapore

IV. Dubai — Colombo — Singapore
— Yangon

Codes :

(A) None are correct

(B) I, Il are correct

(C) 1&IV are correct

(D) All are correct

This consists of two lists of types of
journey and itinerary. The candidate
has to match an item in one list with an
item in the other

Tokyo —

List—1 List— 11
a. Round the 1. BOM — CCU
World — PAT — IXU
b. One Way 2. DEL —» JAl —»
BOM — BLR
c. Open Jaw 3. DEL - KHI >
DXB — DEL

d. Circular trip 4. DEL - PAR —>
WAS - TYO —»

DEL
Codes :

a b c d
A 4 2 1 3
(B) 4 1 2 3
(©) 3 1 2 4
(D) 1 2 3 4
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10.

Assertion (A) : Beach Tourism is
popular among all types of tourism.
Reason (R) : Beach Tourism is a good
combination of adventure and
leisure activities.
(A) Both (A) and (R) are true.
(B) Both (A) and (R) are true, but
(R) is not the correct explanation.
(C) (A)is true, but (R) is false.
(D) (A)is false, but (R) is true.

This consists of two lists of Natural
Vegetation and Wild Life
Sanctuaries/National Parks. The
candidate has to match an item in one
list with an item in the other.
List—1 List—11
(Types of Natural (Name of Wild
Vegetation)  Life Sanctuaries/
National Parks)

a. Tidal forest 1. Sunder ban
b. Alpine forest 2. Dachigam
c. Evergreen forest 3. Manas
d. Tropical 4. Mudumalai
Deciduous forest
Codes :
a b c d
(A) 2 3 4 1
B 1 2 3 4
© ) 2 3 1 4
D) 1 3 2 4

If a mountaineer ascends a mountain at
fast speed, he may suffer Acute
Mountain Sickness due to

l. Low Air Pressure

Il.  Poor Visibility

I11.  Poor Digestion

IV. Poor Acclimatization
(A) I, 11 & I are correct.
(B) 1 &Il are correct.
(C) 1 &1V are correct.
(D) All are correct.
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11.

12.

13.

14.

Which of the following are biosphere
reserves ?

l. Nanda Devi

Il.  Nilgiri

1. Simlipal

IV. Dudhwa

(A) I, 11 & I are correct.

(B) 1 &Il are correct.
(C) 1&1V are correct.
(D) All are correct.

The list consists of two lists of folk
dances and their places. The candidate
has to match an item in one list with an
item in the other :

List—1 List—11
(Folk Dance) (State)
a. Giddha 1. Assam
b. Lavani 2. Punjab
c. Jatra 3. Maharashtra
d. Bihu 4. West Bengal
Codes :

a b c d
A1 2 3 4
B) 2 3 4 1
C) 2 4 3 1
(D) 3 4 2 1

Identify the sequence of the four Indian
hotel chains according to the year of
their establishment.

l. Lemon tree group of hotels

Il.  Oberoi group of hotels

I11.  Welcome group hotels

IV. Taj group hotels

(A) LIV,
(B) I, I 1,1V
(C) IV, 11,111, |
(D) I, 11,11, 1V
Identify the Indian “Café” brand

originated from the State of Karnataka
competing with the international coffee
chains.

(A) Costa Coffee

(B) Coffee Café Day

(C) Barista

(D) Star Bucks
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15.

16.

17.

18.

Arrange the following according to the
hierarchy using the code given below :

l. Commis |

Il.  Executive chef
I11.  Sous chef

IV. Chefd’ partie
Codes :

(A) IV, 11100
(B) NI, IV, 11, I
(C) LI, 11V
(D) 11, 11,1V, |

‘Chef d’rang” is
(A) Position in the kitchen
(B) Position in the restaurant

(C) Position in the housekeeping
department

(D) Position in the front office

‘Bloody Mary” and Screw driver” are
(A) Brand of liquors served in hotel
bars.

(B) Classical
hotel bars.

(C) Classical
hotel bars.

(D) Brands of soft drinks served in
hotel bars.

cocktails served in

mocktails served in

Government of India conducts national
level hospitality training under the
ambit of

(A) National Council for Hotel
Management and  Catering
Technology.

(B) Federation of Hotel and

Restaurant Association of India.
(C) Central Board of Vocational and
Secondary Education.

(D) Indian  Institute  of
Management.

Hotel
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19.

20.

Which one of the following is correctly

stated ?

(A) Tajmahal Palace Hotels and
Resorts are first LEED certified
hotel in India.

(B) Vivanta by Taj are the first
LEED certified hotel in India.

(C) ITC Gardinea hotel is the first
LEED certified hotel in India.

(D) Trident hotel of Oberois is the
first LEED certified hotel in
India.

This consists of two lists of the Tax

and the Explanations. The candidate

has to match an item in one list with an
item in the other.

List— I List—11
(Name of (Explanation for
Tax) Taxes Collected)

a. Air 1. A fee assessed by
Transport the Central
Tax Government to

defray customs
operations at
gateway airports.

b. Inter- 2. A charge imposed
national by an  Airport
Departure authority to fund an
Tax improvement of the

infrastructure.

c. Customer 3. A Central tax
User Fee applied to air
transportation
within India.
d. Passenger 4. A tax assessed by
Facility the Indian

Charge Government  from
passengers who
depart from India to
an international
destination

Codes

a b c d
(A) 3 2 1 4
B) 1 2 4 3
(C) 3 4 1 2
(D) 1 4 3 2
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21.

22,

23.

24,

25.

The fares that must be purchased in
advance of the departure date and
require travel to originate and
terminate at the same point is known as
(A) Individual fare

(B) Group fare

(C) Excursion fare

(D) Transit fare

Dates representing a period of high
demand, during which a particular fare
is invalid

(A) Booking dates

(B) Valid dates

(C) Back out dates

(D) Invalid dates

The segment of the business market
that includes employees of
governments, schools, hospitals etc.
(A) Corporate Travel

(B) Affinity Travel

(C) Institutional Travel

(D) Allinclusive Travel

A unit of measurement determined
when one passenger travels miles on a
transportation by Air carrier

(A) Carbon Miles

(B) Passenger Kilometers

(C) Passenger Mile

(D) Transportation Miles

This list consists of two lists of names
of Sanctuaries and States, the candidate
has to match an item in the List-1 with
Item in the other.

List—1 List— 11
(Name of (Name of State)
Sanctuary)
a. Radhanagari 1. Maharashtra
b. Jaladpara 2. Assam
c. Betla 3. Jharkhand
d. Manas 4. West Bengal
Codes :
a b c d
A) 1 4 3 2
(B) 4 2 1 3
) 3 2 1 4
(D) 4 1 3 2
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26.

217.

28.

29.

This consists of two lists of names of
Dynasties and names of Temples. The
candidate has to match an item in the
List-1 with an item in the List-11.

List— 1| List—11
(Name of (Name of the
Dynasty) Temple)
a. Early 1. Hazararama
Chalukyan
b. Hoysala 2. Vaikuntha
Perumal
c. Pallava 3. Chinnakesava
d. Vijayanagara 4. Papanatha
Codes :
a b c d
A) 3 4 2 1
(B) 4 2 1 3
C) 4 3 2 1
(D) 2 1 3 4

Employees who work at Airport for
booking reservations, weighting and
checking luggage, and issuing tickets
are known as

(A) Traffic Assistant

(B) Airport Agent

(C) Ground Staff

(D) Airport Assistant

A package tour that includes the
services of a tour representative
accompanied at each destination

(A) Excursion tour

(B) Escorted tour

(C) Hosted tour

(D) Minimum tour

Any package tour including two or
more components such as airfare and
accommaodation designed for a specific
client is known as

(A) Free Individual Travel

(B) Group Inclusive Travel

(C) Leisure Travel

(D) Corporate Travel

Paper-I111
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30.

31.

32.

A document issued by a travel agency
or vendor authorizing transportation or
some other travel service to a specified
person.

(A) Amenities voucher

(B) Miscellaneous charges order

(C) Voucher

(D) Saver pass

This consists of two lists of terms and
statements and the candidate has to
match an item in one list with an item
in the other.

List- 1 List- 11
a. Bottom up 1. Formulation of
approach policy with
inputs from
beneficiaries.
b. Top down 2. Mandate for
approach developments in
all sectors.
c. Participative 3. Setting up of
approach policy frame
work with expert
knowledge  of
policymakers.
d. Inclusive 4. Creation of the
approach blue print of the
policy with the
support of
policymakers,
planners and
local community.
Codes :
a b c d
A) 2 1 4 3
B) 1 4 3 2
© 1 3 4 2
(D) 4 2 1 3

Which one of the following is not
correctly stated ?

(A) Eco tourism is an important form
of nature based tourism.

(B) Eco tourism is community
oriented and driven.

(C) Eco tourism is government led
and private sector controlled.

(D) Eco tourism is an important form

of sustainable tourism.
D-93-12



26.

21.

28.

29.

frfotfaa 3 gfeat & fem a9 2R AT
fe& Mo & | odveTrelt <t -1 H & TS wey
Tat-11 =t 7Ef | GHrerd R ¢ |

= - | = - 1

(@9 T ) (e T W)

a. URMYH I 1. g
b. e 2. IHUS THTA
C. Yooral 3. Fameherar
d. fosETR 4. AT
HT
(A)
(B)
©)
(D)

N A DN WD
R W N DO
WN R NO
NE W a

T AE W TS & A, HHE H
qle 3R Seq 31 feeel ot TR e et
FHETT T FeT ST &

(A) <iheh e

(B) TSR Tsie

(C) uEEwW®

(D) TUSRUR Werdsh

TF U 2R, Y U T WA W
I WA AT o SR SURed Bl §
(A) ST AE

(B) TR A

(C) oSEH-Im=T

(D) TgaH IET

Tt of UheT A, STEH S oTHer SO
AP TTH FAT WG 3R AT HAHAT
& 5 fordt fae Tmes & fore oaR o
T e

(A)
(B)
©)
(D)

A SR 1A
gfeeh FHled The
S CEINISELE]
T 9es
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30.

3L

32.

e Uil 3rerEr fashdr (deR) FRT TRt
ToRIY =AfoRT i UREEA 30T F5 3 I
T3t % foTT SATeha e T SEAET & -
(A) glaEr as=

(B) T ST A 0

(C) ==

(D) TR U™

Frfefaa 3 gfedt & TiRfues 91 3]
FoE &3 T & | wdeme 6 g1 @ ue

= gat-1l =t 7e7 9 GAfd FRAT T |
et - Tt - 11
a. SEATHI ST 1. oOET ¥ WS
g ¥ A @@
T
b. STl SUTE 2. Wt &= | fae
T TR
C. TEIRTT 3. Tfaeri & fafere
3 FH FR A
T T T
d. 9Hfed SUmE 4. HfGRRT,  ASHERT
3R =TGR
= T 9 A &
Y Tl TR T |
HT
a b c d
(A 2 1 4 3
B 1 4 3 2
© 1 3 4 2
) 4 2 1 3
frferfiaa & 9 =i 91 o W@ R & 2
(A) TR T Wehid- e T
H T FE@q0 €9 ¢ |
(B) URFfan Ted WREEl & 3R
3 TR ERT 9T S |

TRfEfdR T¥eT # AgE WER
FA & AR ThH T ST e
FATE |

URFEfae Ted URviE TEed

el ¥ ¢ |

(©)

(D)
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33.

34.

Which one of the following is correctly
stated ?

(A) Carrying capacity is measured on
the basis of expectation of
visitors.

Carrying capacity is measured on
the basis of the perception of the
visitors.

Carrying capacity is carried out
on the basis of facilities and
amenities.

Carrying capacity is estimated by
taking into tourist foot falls.

(B)

(©)

(D)

Identify the correct sequential order of
the authors given these definitions :

(@) Travelling to relatively
undisturbed and uncontaminated
natural areas ......... cultural
manifestations.

(b) The intricate relationship
between tourists, environment
and culture ......... Eco tourism.

(c) Tourism that involves travelling
to relatively undisturbed natural
areas (both of the past
and the present) found in these
areas.

(d) Alternative tourism is an
umbrella term covering a range
of new forms of tourism
the perceived costs of mass

tourism.
Authors :
1.  Ceballos - Lascurian
2. Hetzer
3. UNWTO
4, Mowforth and munt
Codes :

a b c d
A O @G B @
B n @ & @
© @ & @ @
G @& O @
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35.

36.

Assertion (A) : Inclusive tourism
— an innovative concept that aims at
providing ample scope for socio
economic development and
ecological conservation there by
minimizing negative impacts and
optimizing positive impacts.

Reason (R) : Eradication of poverty,
unemployment,  malnourishment
and ignorance can be possible when
tourism  development is  well
defined and timely implemented.

(A) Both (A) and (R) are true.
(B) Both (A) and (R) are true, but
(R) is not the correct explanation.
(C) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.
Assertion (A) : Responsible
tourism aims at  promoting
conservation, community
participation and  sustainable

development.

Reason (R) : Tourism destinations are
intended to enforce principles of
sustainable tourism like
minimization of negative impacts,
conservation of resources, equitable
distribution of tourism revenue and
expansion of tourism facilities and
amenities.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, but

(R) is not the correct explanation.
©
(D)

(A) is true, but (R) is false.

(A) is false, but (R) is true.
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33.

34.

fefeiad o & i 91 e Tér e ?

(A) T&T T I RTT AT % SR
T S

T A I A F TIE &
SR 9T AT AT & |

TeT T T GE-Graursii & MR
T S

TeT A B A & W @ &
YR T AT fhaT ST & |

(B)
(©)

(D)

TG o TEl ST 3hH hl Tga HiteTT
ST 3 R < €
(@) HIdUT T TS 3Nfahd Wepideh &=

(b) TICH, AR X TWEHA & &

() o& WA SaH Hfauw o Wi
(forar wat aaM 3T 99 H) S e
&3 § T S €

(d) Shfcass W ged v & foraeh
3T TG o TS TUT Y G 3T
i1 ST EE THeA H
ST AT |

G

1. oo — TR

2. &R

3. oAt (UNWTO)

4. HIHRY R G

HT
a b c d

A O @G B @

B n @ 6 @

© @ & @ O

GG @ O @
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35.

36.

AR (A) © THIE YIeA-UE e
AR & TSGR T WHISTR-
3T forehm 37X T fereht o TRToT
H T A T SR T UER
THRTHF TS Sl FATH HEAT & T
HHRICHS TS i F=dT HEAR |

aF (R) : Fdar SVeM, ISR, Har
3R ST B THG HAT TG E
STel qes T T TSl a¥E i
o ST 3R 3 99T W FHEe
fopam ST |

(A) 3T (R) THT T & |

(A) &R (R) SHi @l & T (R)

TET TSR T € |

(A) T& & W= (R) ToTa & |

(A) TeTd &, TR (R) W& € |

(A)
(B)

(©)
(D)

AfWweE (A) : IMGEYT T8 F Al
T & T Sl ST AT, TR
H TR SR URUiE foserE
T |

% (R) : T e T § I7fd €

o o THERIETE TTE . FAAH FHH

S YR YA & fagidl, Aid %

TTRI0T, WA & TS X wheT H

gE-granett w1 gAE faawer & fagrar

1 AN L |
(A) 3R (R) Tl eI € |
(A) &R (R) 3H @& & = (R)
T TEHIT TET & |
(A) W&l 5, W (R) T ¢ |
(A) TeTd &, TR (R) TEl & |
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37.

38.

39.

40.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : Trident hotel and
Ginger hotel are the budget category
hotels belonged to two major chains.

Reason (R) : To provide wide range of
room inventory for tourists.

Codes :

(A) (A)is correct, but (R) is wrong.
(B) Both (A) and (R) are correct.
(C) (A)iswrong, but (R) is correct.
(D) Both (A) and (R) are wrong.

Indian Tobacco Company, a fortune
500 Company has its diversified
interest in

(A) Tobacco and real estates

(B) Hotels and agri products

(C) Automobiles and Heavy industry
(D) Travel and tour operations

What is
collinerity ?

(A) A state of very high correlation
among dependent variable.

the meaning of multi-

(B) A state of very high inter
correlations among independent
variable.

(C) A close association between
dependent and independent
variable.

(D) A significant difference between
dependent and independent
variable.

Principle component analysis

explaining the total variance is used for
(A) Factor analysis

(B) Conjoint analysis

(C) Clusture analysis

(D) Discriminant analysis

Paper-I111
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41.

42.

43.

What is secondary data ?

(A) Data originated by the researcher
for the specific purpose of
addressing the research problem.
Data collected for some purpose
other than the problem at hand.
Data collected for dealing with
specific problem.

(D) Data compiled for certain purposes.

This consists of two lists of
explanation of variables and the
candidate has to match an item in one
list with an item in the other.

(B)
(©)

List— 1| List—11
a. Independent 1. Variables
variable linking a cause-
and-effect
relationship.
b. Dependent 2. Unmeasured
variable variables

affecting the
cause-and-effect

relationship.
c. Extraneous 3. Change
variable variables.
d. Intervening 4. Outcome/effect
variable variables.
Codes :
a b c d
A) 1 2 4 3
B) 2 3 4 1
(C) 3 4 2 1
(D) 4 1 3 2

Regression analysis is used for one of
the following :

(A) To analyze associative
relationship between a metric
dependent variable and one or
more dependent variable.

To establish relationship between
two and more independent
variables.

To find the direct relationship
between two variables of a
dependent variable.

To study the relationship of one
predictor variable.

(B)

(©)

(D)
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37.

38.

39.

40.

e & w9 § S99 ° ™ H

MR (A) 3R W A d% (R) Tl

T |

AUEHEA (A) : TTEe2 Bledd 3R MoK e
I HOT & & S X 7 A 9 E

& (R) : WA & faw A= uer &
IR I AABT T T HEAT |

T

(A) (A) T&l & W (R) T & |

(B) (A) 3R (R)IAT T |

(C) (A) T & W (R) W& & |

(D) (A) X (R) IH Tord € |

IRAT TP BT, FET 500 FHEA, H
T ¥ faferar €

(A) TTE 3R T (Raer T

(B) et 3R P 3

(C) STemETEe 3K YR STNT

(D) WHeT 3R AT SUHY

Ao BN (Multi-collinerity) T I

T2

(A) = & dF TEEEHl & aga 3
aE |

W T & GG R Tl
g ST T |

fyd e Wad T % S e
T |

MY Td = o % g Hewaqor
I |

(B)
(©)

(D)

T e fawemu S Fo SRR *
TTSCIHIOT AT &, TR TN eiell &

(A) TOHEUE T ferveruoT
(B) T (Conjoint) TawetooT
(C) wfee fovetsor

(D) favigeh faweimoT
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41.

42.

43.

TOT STIET (TTEH) T & 2

(A) 3TITEN UL Ff &1 FA & Hivad

T & fom rEdEedl gw

3TTHST o g HET |

JIE IR ¥ ST T % T

THET (TT) T ThaT BT |

fafvaa woen = Fuer & fou ey

T T TR (3HD)

sipg o et iy oer &

T Sohg forar ST &

ffafea &1 gfear & FH w0 @

TILFROT e T § SR ORpee G-I

i TR N G-I 3 T_T F GAfAT AT § |
e - | = - 1

a. WIAA@TA 1. W S PRE —

TS T

T A & |

iU =X S

FHITET &

ESt=Es) =

(B)

(©)
(D)

b. onftyd af@sad 2.

c. el aRdsA 3.
d. TeEed af@ed 4. IR/ T
FeT
(A)
(B)
©)
(D)

YT favetuur @i FHEfciEd § § TF &
WWWW%:

(A) T ot aRAee 3R U 3T
T ¥ AF ai@ae/aRdse & ard
HAITT T o et o & oY |
T oTYaT I O ek T aRIsel
% Y TIYT e & o |

T 3T aRAaeA & & A=l &
e GreT I ged & o |

U QIS dRIaell & T
T 7T A o [T |

Paper-I111

P OLODNEFE D
B~ OWDNDT
wWwNPb~BO
NP, P WO

(B)
(©)

(D)



44,

45.

46.

This consists of type of researches and
its characteristics. The candidate has to
match an item in one list with an item
in the other.

List— 1 List—11

a. Explorative 1. Determining,
evaluating and
selecting  best
course of actions
in a given
situation.

b. Conclusive 2. Obtaining
evidence
regarding cause-
and-effect
relationship.

Classification of
characteristics of
relevant groups.

c. Casual 3.

d. Descriptive 4. Provision of
insights into and
understanding of
the problem.

Codes :

a b c d

A) 1 3 4 2

(B) 4 1 2 3

© ) 2 4 3 1

(D) 3 2 1 4

Which one of the following primarily
makes differentiation between a
“concept” and a “variable” in Social
Science Research ?

(A) Predictability

(B) Objectivity

(C) Measurability

(D) Variability

Persons of Indian Origin (P1O) Card
are not permitted if the applicant’s
parents/grand parents belonged to

l. Pakistan Il.  SriLanka
I11.  Nepal IV. Bhutan

(A) I, 11 & I are correct.

(B) 1 & Il are correct.

(C) 1&1V are correct.

(D) All are correct.
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47.

48.

49.

50.

The correct relationship between NUC,
ROE, and LSF is

(A) ROE =NUC x LSF

(B) LSF=NUC x ROE

(C) NUC =LSF x ROE

(D) NUC =LSF + ROE

Which places are included in the
itinerary of ‘Deccan Odyssey’ train ?

l. Goa

Il.  Pune

I1l.  Aurangabad

IV. Sindhudurg

(A) I, 11 & I are correct.
(B) 1 &Il are correct.
(C) 1 &Il are correct.
(D) All are correct.

This consists of two lists of Name of
Cities and Traffic Conference Areas.
The Candidate has to match an item in
one list with an item in the other.

List—1 List— 11
(Name of Cities) (T.C. Area)
a. Los Angles 1. 1l
b. Helsinki 2. 1
c. Luzon city 3.1
d. Jakarta 4. 11
Codes :
a b c d
A 3 2 4 1
B) 3 2 1 4
© 1 2 3 4
(D) 2 1 3 4

Assertion (A) : Domestic Airlines
can import Air Turbine Fuel (ATF)
directly from foreign countries.

Reason (R) : ATF has important share
in operational cost.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, but

(R) is not correct explanation.

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

D-93-12



44, FrAfarEa & graa ¢ M e %

TR X ITh! fafereeand & g & | udremet

T Gell-1 S T&T B G-I S 3T T GAfTT
FAE |
=i - | =t - 1
a. TauUTAs 1. TR wed
uRietd & warm
o W R,
el 3R =
b. Foms 2. I R u9E
gl g
ST
C. HAS 3. GEUd YR F
e faferedre
T FITHOT
d. foeRoTeAs® 4. HHRN H gHSAT
AR Y T
AT
FT
a b c d
A 1 3 4 2
B 4 1 2 3
) 2 4 3 1
M) 3 2 1 4
45. wEITE  fOE STEYH H  STEemOm
(Concept) IR IR (Variable) F o
s, Ffeed o 9, 9 T €
(A) TH
(B) g
(C) I
(D) fersigza
46. ORI ol 1 A (PIO) HIE el o
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Qe 71 .
I ok . e
1. =t V. 9=
(A LI ITTEE
(B) N3RITEE |
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(D) THNTE |
D-93-12

17

47.

48.

49.

50.

wIHE. (NUC). 3IR.3ME (ROE) 3
TA.UE.UF, (LSF) T W& Ty &

(A) ROE =NUC x LSF

(B) LSF=NUC x ROE

(C) NUC = LSF x ROE

(D) NUC = LSF + ROE

SHRT SH Sl % U H HHA WA

T IS § 2
. Tem
1. 9o
. mER
Iv. f%
(A) 1,13 NTE |
(B) 13RIITEE |
(C) 13RITEE |
(D) THNTE |
frferfiaa < gt & TR % AW 3R ek
HOFT TRAT 5T T & | W b G-l
HRT I G-I 3l 7R F GRITT BT € |
= - | =t - 1
(ERHAW)  CEEwR
afkam)
a. Ag@usfer 1. 1l
b. TG 2. 1
c. TARE 3. |
d. SeRar 4. 1
B!
a b c d
A3 2 4 1
B 3 2 1 4
1 2 3 4
)2 1 3 4
At (A) e TSR o9 9y

foeell ¥ TR TEET A (T20F)
faier T Tepell € |
a% (R) : UR=eH AFE § T 3 UH @
LI T |
(A) 31T (R) g1 T&t € |
(A) 3R (R) 34T T &, ] (R) Tel
TIEIHOT T € |

(A) Tl &, T (R) Terd & |
(A) T &, R (R) W& € |

(A)
(B)

(€)
(D)

Paper-I111



51.

52.

53.

54,

55.

56.

Calculate the flying time if a flight
leaves Mumbai (+0530 Hrs.) at 0625
Hrs. and arrives Manila (+0800 Hrs) at
1505 Hrs.

(A) 5.10 Hrs
(C) 7.10Hrs.

(B) 6.10 Hrs.
(D) 8.10 Hrs.

If a person purchases a ticket in Delhi
and starts his journey from Indira
Gandhi International Airport, it is a
transaction ;
(A) SITI

(C) SITO

(B) SOTI
(D) SOTO

FIFO and LIFO are methods of
calculating

(A) Depreciation

(B) Inventory Valuation

(C) Net Investment

(D) Working Capital

Which one of the following does not
affect the fund requirements or
working capital requirements ?

(A) Nature of Business

(B) Type of Business

(C) Sales Volume

(D) Profit Volume

Out of the following which are known
as form of dividend ?

l. Scrip 1.  Debenture

I1l.  Property IV. Stock

A 1&ll

@) I, HN&IVv

© L&V

O) LILI&IV

Functional managers are responsible

(A) for asingle area activity.

(B) to upper level of management
and staff.

(C) for complex organizational sub
units.

(D) for obtaining copyrights and

patents for
processes.

newly developed
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57.

58.

59.

60.

61.

According to Herzberg, which of the
following is a maintenance factor ?

(A) Salary

(B) Work itself

(C) Responsibility

(D) Recognition

While guiding organization members
in appropriate directions, a manager
exhibits

(A) consideration behaviour

(B) authoritarian behaviour

(C) leadership behaviour
(D) theory Y behaviour
A manager is responsible for

implementing the policies and plans
developed by top managers and for
supervising and co-ordinating the
activities of low-level managers.

(A) top level

(B) middle level

(C) firstline

(D) low level

One of the most helpful mechanism for
refining a spoken or written
communication is

(A) Counselling service

(B) Grapevine

(C) FiveC’s

(D) Complaint management

Assertion (A) : Perception
represents the process by which
meaning is attributed to an object,
event or person encountered in the
environment.

Reason (R) : Perception can be created

without experience and knowledge

of the object/person.
Both (A) and (R) are true.
Both (A) and (R) are true, but
(R) is not the correct explanation.
(A) is true, but (R) is false.
Both (A) and (R) are false.

(A)
(B)

(©)
(D)
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52.

53.

4.

55.

56.

I Uk SgM gEE W (+0530 =) 0625
o1 ST & 3 A (+0800 E2T) | 1505
T ;

(A) 5.10F
(C) 7.10%

Ifs weh e oot 1 foshe @l & 3]
T M ST g 37 T AT TR
AT & A T Tt gem

(A) THIESTE (SITI)

(B) TH3NEITE (SOTI)

(C) THMEIRT (SITO)

(D) WIS (SOTO)

TRSTEUEST  (FIFO) 3R UIeTeu®ad
(LIFO) TIOFT o & &7 & :

(B) 6.10%
(D) 8.10%

ffefad & & SF 91 60 T SAEvaehdl
31T =Te] STt S STTETT AT S T el
T 2

(A) IR H TFH

(B) AR W WHR

(C) forsrar aRATOT

(D) @ gRET

frefefad o & fh9 @9 (Dividend) &
TG H ST ST & 2

. Ty . fes®
. st V. =%
(A) 13RIl

(B) 11, 13RIV

(C) LRIV

(D) 111, 13RIV

I JeUeh o SAEAA ¢ :

(A) T & Tidtary & forw |

(B) VareH Ud WIF & FWRI TR & T |

(C) Sifeet TeIMTeH 3T THIEAT o foTT |

(D) % foeiaa ufsraneti & fow sdREe
3R U W i & oW |
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58.

59.

60.
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T % R, FEfatad § ¥ PE
TRV R & 2

(A) o

(B) A wdH

(C) e

(D) & (Recognition)

HTTeT o S i 3ud e 3 %
o vrermereh s féTa e €

(A) THFYU SRR

(B) PR TR

(C) YUl SR

(D) Y o9& SRR

TH Teueh W 39 WRig Jeaehi
g fowfga Aifqa e SeEet W
FETad HH R T TRT TaH
TiafafEr & Fdeor 3R S aeve fseH
FH S EAT & |

(A) I TR

(B) U T

(C) v dferT

(D) = ==

TS ST feifgd Tar @ aREST
R F GG H TEIF TN T T & -
(A) TES HaT

(B) Tuared

(C) 9= (Five C’s)

(D) TR vare

AWHAT (A) | T TH ST AR
Tt s & T foredt o, e
31T SR Y, ST AER F I 9R)
2 @1 &, 37 U e S €

A% (R) : UceT ST I /AT Sl ST
3T 3TvE A o foeT o g fopar
ST AT & |

(A) (A) 3R (R) I T T |

(B) (A) R (R) 3HI W & = (R)

TR TR TE |

(C) (A) T g, =< (R) Tod & |
(D) (A) 3R (R) 3HI T € |
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62.

63.

64.

65.

66.

Total Quality Management (TQM) is a
management approach

(A) Long term success
customer satisfaction.

through

(B) Continuous improvement of the
quality  of  products and
processes.

(C) Defending the quality of the
product.

(D) Understanding  the  product

development process.

Using tourist data from each country to
aggregate total tourist demand is a
method popularly known as

(A) Break down approach
(B) Form up approach
(C) Integrative approach
(D) Selective approach

When a marketer cannot identify the
source of competition and wrongly
assumes the industry structure, this
behaviour is called

(A) Marketing Exopia
(B) Marketing Phobia
(C) Marketing Myopia
(D) Marketing Xenoa

Viral marketing is an example of
(A) Word of Mouth Communication

(B) Integrated Marketing
Communication
(©)

Push Model of Communication
(D) None

The best method of segmenting the
market for tourism product and
destination is

(A) Behavioural
(B) Psychological
(C) Demographic
(D) Geographic
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67.

68.

69.

70.

Availability of market access is a
necessary condition to find out

(A) qualified target market

(B) qualified available market

(C) qualified market share

(D) qualified potential market

Closure to the time of travel, pricing
powers are with the travel service
provider and further from the point of
travel, the power is with the traveller.
This method of pricing is called

(A) Marginal pricing
(B) Dynamic pricing
(C) Auction pricing

(D) Base rate pricing

Assertion (A) : Distribution
channel members are fairly fluid in
terms of their roles, interests,
operations and perspectives.

Reason (R) : The complexity of travel
trade and the dissimilarity of
operational practices used
worldwide makes it difficult to
define and establish strategies,
tactics, operation features, practices
and functions.

Both (A) and (R) are true.

Both (A) and (R) are true and (R)
IS not the correct explanation.

(A) is true, but (R) is false.
(A) is false, but (R) is true.

(A)
(B)

(©)
(D)

A business which has enough assets to
meet its liabilities but cannot convert
these assets quickly enough to cash is
commonly described as

(A) Over trading

(B) Over invested

(C) Technically insolvent
(D) Untapped finance
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62.

63.

64.

65.

66.

T TOTET e (2R U, ) Fee U §

(A) ITHRT TRl FRT ST
T |

(B) STUTET Sl TUTERT 3HX WishAT H R
QU |

(C) SR ol TUTET H I |

(D) 3% forer Tiskam =t e |

TAIfET ot TS WA i o § Heddh 99
% AT SRS I WFoRT AT Tah U &
& o o el €

(A) SFEHRH 3T
(B) TN 31T IUNTH
(C) THSFHATHS U

(D) = 3UTTy

e Ueh Toqueh T o e o Teu Tél
F T AR Tt 9 SR g A
I & T T HTER B el Sl ¢

(A) faquE TRt

(B) fauurE sfifq

(C) fauwor Fee gfte

(D) ToUU WReRIST (Marketing Xenoa)

TSI TTHIT SR ¢

(A) TifEs GO & 9

(B) U foauur HER

(C) TR =l q¥T (goheh) HISA
(D) SWE 4§ HE Tel

T2 IS 3 T T & AT ISR &
QUSR] K G &7 &

(A) TTERTTH
(B) WG
(C) SHHitETeht
(D) it
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67.

68.

69.

70.

HIfhe T Ugd UM S ST T8 g8
foT sTeva €

(A) TaRTE AT AR

(B) fafsme 3uctey IR

(C) fafTe AR 39T

(D) TaRT ¥ SRR

I & U A AET T G B Il b
T H Hd HeRer o v e € 3R
TSI =18 T fovg & X &0, @ I8 iRt A
FEY H Tl & | T et W o e ¢
(A) I B R

(B) i e fror

(C) et e femor

(D) 9T ST A fFERoT

aAfirpe (A) ; ToRoT qomett % TeE |
T o Gy T ! oA Wl ¢ |

qF (R) : AT SR i Sectar 3R T=me
FEERT H  FAGEACT, e wEm
TR | R ST W@ €, | i,
3 St i uRe 31Y Tt T
i &l ST & |

(A) (A) 3R (R) 3HT &I € |
@HMW®ﬁ®%W®
e TR Fal ¢ |

(C) (A) W& T (R) T & |
(D) (A) Tere & T (R) Wl € |

TS AR 58k 9 310! Sgqaisti &
FH & U T aReEidE € W 98
T FETEr Sl Sl ° 39h SRl H
TEAI B AGI T WHA a T I B

HHEITT bl SIdl %‘:

(A) 31y =R

(B) 3ty A

(C) okt &Y ¥ feanferan

(D) g (Irewg) for
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71.

Read the passage below and answer the
questions from No. 71 to 75.

The credit for preserving the
Vedic Dharma in India by uniting
various sectarian groups goes to Adi
Guru Shankaracharya. He travelled
widely all over India to unite the then
opposing forces of the Vedic religion.
He  started his  philosophical
disputations and met intellectuals of
different schools of thoughts and
convinced them by his

established  the

logical
arguments  and
supremacy of the Vedic religion. He
founded the four religious peethas of
muths to represent the four Vedas or
Hinduism and revived the religion. He
ordained that each Hindu must visit all
the four religious centres once in

his/her lifetime.

The passage clearly indicates the
following. Identify the correct one :

(A) Adi Guru Shankaracharya fought
against the existing domination
of various religions.
He became Adi
travelled widely.

(B) Guru, as he
Since he was born in a humble
family he was able to realize the
sufferings of the common people.

(©)

(D) He started philosophical debates

while as a child.

72.

73.

74.

75.
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Sri Shankaracharya established his first
monastery in

(A)
(B)
(©)
(D)

Puri
Dwarka
Varanasi
Sringeri

Adi Guru was born in
(A) Kochhi
(B) Kaladi
(C) Pathanamthitta

(D) Aleppy

Sri Shankaracharya founded four
religious seats. Which one of the
following is not correctly matched ?

(A)
(B)
(©)
(D)

Sringeri Muth in Karnataka
Gobardan Muth in Orissa
Dwarka Muth in Gujarat
Joshi Muth in Kaladi

Assertion (A) : Sri Shankaracharya
went to Kanchipuram in Tamil
Nadu and made the Chola Kings
his disciples.

Reason (R) The four Muths
established by Shankaracharya
became tourist distinations.

Both (A) and (R) are true.

Both (A) and (R) are true, but
(R) is not the correct explanation.

(A) is true, but (R) is false.
(A) is false, but (R) is true.

(A)
(B)

(©)
(D)
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71.

ferder : et fow T TR B e R IR €.
719 75 % ST AT |

s & JiaE H AT S ST § R
IR I IR WHEl H Tehl TR
RT T afssh oF 1 aRwor e | s=e
Afeer o ol forred vl & wehar M
o0 SR T WG AR B | SR I
TR foams &t TR foRar 3R o fafe
T % fagm @ el o) SR % St
TERET ARl | T SR A o
e TG H | I AR G die
AT HS TS fha ST &g 9 % =R o
= T et & | 32 &7 S 3T R |
I TT I A R UEE B et
STEFehIct | 39 TR Fal i AT 37ewd Y |

ST AT o YR W HFAfeargd § °

T N 9 HI

(A) =g T& SR F SHEH HEted
AT o M & foeg ey foma |

(B) d 31 T& & ik Sa TS AR H |

(C) Rl SR ST Ueh T URAR H
TN o1 THMGIT o8 3T STRH & 3@-
T 1 TEE o |

(D) B IRIFF E-foaRE T T
TR IR R |

72.

73.

74.

75.
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IR STIT TeeT TS T TR
(A) T

(B) sr&
(C) @R
(D) FrRY

3N 7% 1 S T
(A) Il

(B) whrrel

(C) uza

(D) weerdt

st SeREE 4 9R Hel i fwar |
9 ¥ BH T GAfeRd T & 2

(A) A 7S - Few

(B) TieeH TS - SEET

(C) SR HS - ORI

(D) TN HS - HIoTS!

afirper (A) : ot SR afeTg |§
Ffar T e IR @@ a@er
TS I 37T TS SR |

T (R) : YR FR ®iE =R e

e T T & T |

(A) 3R (R) TFT HT & |

(A) 3 (R) 3 w8 €, W] (R) W

W] e € |

(A) W &, T (R) TR € |

(A) T &, W/ (R) W & |

(A)
(B)

(©)
(D)
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